[ Efficiency vs vertpos |

—0.05
$.045
2
20.04
(&)
$.035
O
£0.03
0.025
0.02
0.015
0.04
0.005

...............................................

e

10

Ratio

1.1

S AR LARRNE AR RSN LA LR RN LR RRE RRRL LRRRNLRLR

1
1

DQ
DQ
Efficiend —— B3

1072 107 1

10 0?
TP vertr (cr%)

TT_original_low

T
TTfnewbranchfFowpt

_TT_original_lowpt_pLess
TT newbranch_lowpt_plLess

<4

.....................................

...............................

............................

1 *é'ﬁ*t;g&;@w@ yﬂ.%

AL SN L

10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

~0.05
>
£0.045
£
50.04
9.035
3
20.03
k)
9.025
[J]
0.02
0.015
0.01

0.005

Ratio

-20 =15 =10 -5

Sim. PV z (cm)



	Contents
	Page 1


